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I 2 mwn: Rule of n1arw nron and was found after N193; or moneys set aside for nron, lost and then found after n793
a  Animal: dies
b  Money: take to nonn o
IT 2 mwn: various scenarios about nTaRY nNRoN or moneys set aside for nkon which got lost and later found
a  If: he set aside money for a nxvn, it was lost and he designated other coins and then the first ones were found
i Then: he mixes moneys from both sets to buy nxon and rest is used for nam
b  If he designated nron-money, got lost and designated a nxvn; when the money was found the nxon had becomes n"ya
i Then: sell n"ya, both sets of money are mixed to buy nxvn, surplus used to buy nam
¢ If:he designated nxvn and it got lost and he designated money in its place and his nron was found but was n”ya
i Then: the n"yais sold and the moneys mixed and used to buy nxon and the rest go to nam
d If: he was nron w1an and it got lost and he was wan one its place, and he found the first before n793 and both are n”ya
i Then: both are sold, moneys mixed to buy nkvn and rest goes to nam
e If:he was nxon vMan and it got lost, designated a replacement and 1t was found and both are nnnn
i a7 offer either as nkvn and the other dies
ii 37 only nnn nron is if it is found after n93; only nonn 0% myn if found after *Yya nia
f  If:he designated a nron and it got a o
i Then: he sells it and uses the money for another
ii  »7an7. if the replacement was offered before the n”ya was slaughtered —the original (n"ya) dies
III  Analysis of -2 nviwn: whether it follows 727 or 13127 (per dispute at end of » nwn)
a  First case: implies that if replacement hadn’t yet been offered, unselected one would be ny11 — per 1129
b Yet: in first case of 3 mwn, implies that if he didn’t mix funds, untapped moneys would go to nonn o> — per 217
i Defense: per X110 "1's version of 11 — that 1327 agree that if he pulled one away (to offer), other is nnn
1 And: only disagreement is if he didn’t make his own decision and asked us — 1217 - 1 brought, other nym
ii  But: to Rar '7’s version of 21 — that 1327 agree if he uses the replacement, the nTar dies;
1 Disagreement: is if he used the lost one
(a) 227 the replacement is like the lost one — if other is used, it dies
(b) 227 the replacement is not like a lost one — if other is used, it grazes
iii ~ Then: the first case is written to imply ’27's position, the next case implies 1327’s position
1 Question: why do so — after all, their positions are explicated at end of 3 nywn?
2 Answer: teaches that this apparent contradiction is anchored in the dispute 13227/721
IV Re-assessing R0 29/81R 721 as to 27's understanding of the dispute 13239/21
a w177 all agree if he took one to offer, other dies; dispute only if he comes to ask
i 237 no VTP Mpn — we tell him to use replacement and let lost one die
ii 237 Mpn to benefit pwTp — we tell him to use original and let replacement graze
iii ~ Challenge (¥?w7wp 37): v. 1, directing 0’113 to modify additions to nnn in order to avoid M, proves mw1p% Mpn
1 Answer: that follows 1119; 727 would disagree
b xax /7 all agree if he uses the replacement, the original dies; dispute only if he uses the original
i 237 the replacement is like the lost one (> dies)
ii 237 the replacement is not like the lost one (> grazes)
iii ~ Challenge: (in re: 2"nv »1yw) if another pair needed, the “out” grazes, because nnn Max nron PR
1 Inference: if it were a parallel case of T nron — it would die
2 But: per 11 (PnT n”ya PR) it is 274 of 27 pair that grazes >which was T2°8Y wan and would die (if 7n?)
(a) Answer: that follows »27; 1327 would disagree
¢ Challenge: 2 mwn implies that if the replacement weren’t yet brought, the other would graze
i Regardless: if he took one, or used the lost one or not — both 10 "3 and Rar 1 are refuted
ii ~ Answer: the inference is wrong; the nywn only picked clear-cut, unqualified rulings
d  Challenge: » mwn (case #1) implies that if he didn’t mix money, unused funds would got to nYnn o’
i Regardless: if he took one, or used the lost one or not — both 810 "3 and Rar 1 are refuted
ii ~ Answer: the inference is wrong; the nawn only picked clear-cut, unqualified rulings

www.dafyomivyicc.org 20 © Yitzchak Etshalom 2012




